Conversion Exam Questions Mark Scheme
1.
(a) 01101101 (1 for binary, 1 for 8 bits)

(b) 155 (1 for 1, 1 for 55)

(c) 6D (1 for 6, 1 for D) 

(d) 0001 0000 1001 (1 for use of 12 bits, 1 for correct answer) 
[8]
2.
a) (i) 
128
64
32
16
8
4
2
1




  0
 1
 1
 1
0
0
0
1     =  01110001.



(ii) 
1 = 0001




1 = 0001




3 = 0011


Therefore 113 = 0000000100010011


b) (i) 113 = 001 110 001 in binary




   =   1     6     1 in octal.


(ii) 113 = 0111 0001 in binary




=     7      1  in hexadecimal.


Notice: (i) and (ii) It was necessary to show a method of working out. Many students have calculators that will automatically change from one number system to another, so it is necessary to show that you know what you are doing, even if you use a calculator to check the results. Also, the question stated that the appropriate number of bytes be used, in part (i) this is obviously 8 bits and is an easy mark, but in part (ii) it is necessary to add a set of zeros to the front of the answer to make it a whole number of bytes.


(iii) and (iv) The question stated that the first answer had to be used, so one of the two marks is going to be given for showing the relationship between binary and each of these two representations. Notice that for the octal answer it was necessary to add a 0 to the front of the binary number to give 9 bits (3 lots of 3).

3. -Groups of 4 bits

-Give hexadecimal values 
[2]
4. -Bits arranged in threes from the right

-Need to add leading zero

- 001 001 110

-Each group of three bits converted (to denary/octal)

(1 per -, max3)

[3]
